
A ( 1 : 1,5 )

A

www.rocaindustry.com

A3

Date

V6 250107/AC

Item no.

 

Description

STEP 30 + ROCA Decibel  

Reference   10000960

Page 1

Oval cylinder + 

cylinder escutcheon

Thumb turn

RG-470

RG-471

Standard glass cutout

ROCA RG-470 module.

1
2
0

*

=
=

*Cut out in wall

or el-zone, min

4mm depth.

See page 2

9,5

25

3
5

3
5

(
9

4
8
,
5

)

(
9

0
5

)

(
8

,
5

)

Strike plate

for STEP 30 

see page 5

Right hung door

Lever handle



B ( 1 : 2 )

D ( 1 : 2 )

C ( 1 : 2 )

B

D

C

www.rocaindustry.com

A3

Date

V6 250107/AC

Item no.

 

Description

STEP 30 + ROCA Decibel  

Reference   10000707

Page 2

2
0

8
1
 
(
s
t
a

n
d

a
r
d

 
h
e

i
g

h
t
)

9
7

3
,
5

1
1

0

16

27

Frame cut out
El-zone cut out

9
6

8
,
5

1
2
0

Right hung door

M5x0.8 - 6H

1
2

0

4



E ( 1 : 1,5 )

E

www.rocaindustry.com

A3

Date

V6 250107/AC

Item no.

 

Description

STEP 30 + ROCA Decibel  

Reference   10002808

Page 3

Standard glass cutout

ROCA RG-470 module.

*Cut out in wall

or el-zone, min

4mm depth.

See page 4

Strike plate

for STEP 30 

see page 5

Left hung door

Oval cylinder + 

cylinder escutcheon

Thumb turn

RG-470

RG-471

1
2

0
*

=
=

25

3
5

3
5

(
9
0

5
)

(
9
4

8
,
5

)

9,5

8
,
5

1
6

0

Lever handle



H ( 1 : 2 )

G ( 1 : 2 )

F ( 1 : 2 )

HG

F

www.rocaindustry.com

A3

Date

V6 250107/AC

Item no.

 

Description

STEP 30 + ROCA Decibel  

Reference   10002808

Page 4

Frame cut out

El-zone cut out

Left hung door

4

1
2

0

1
1

0

2
0
8

1
 
(
s
t
a

n
d
a

r
d

 
h

e
i
g

h
t
)

27

16

1
2

0

M5x0.8 - 6H

9
7

3
,
5

9
6
8

,
5



www.rocaindustry.com

A3

Date

V6 250107/AC

Item no.

 

Description

Strike plate RG-474 863020

Reference   10000724

Page 5

1
0

0

Strike plate inner RG-474

Screw M4x8 (2pcs)

STEP 30

RG-580

Screw M5x10

RG-474

Strike plate RG-474

Oval holes make it possible to adjust

strike plate's vertical position in door frame.

16

1
2

0

Screw M4x8


